From Rete - 20.j0-22_

¥
%%%g
o
% ‘

S0Z000L
*ON 19 ooq uonsand)
/1eaR 1ebyh Lak

gRa®r # g&i @) @& 16
No. of Pages in Booklet : 16

g ¥ s @ i 75 L.S-22

No. of Questions in Booklet : 75
Paper Code : OD

SUBJECT : General Studies - Coach

99 : 1.30 Tve Paper_l IfeHaH 3F : 150
Time: 1.30 Hours Maximum Marks: 150
7 IR & AR e /uifE & @ @iem w wdenit 97 gfifea & o & we gRaer @em @ sigHar.
T-T9F R 3 IRee w9 §| T g e 8, @ el due & quw weE-ua W w of | Y giiea
F B R apit a9t gl

On opening the paper seal/ polythene bag of the Question Booklet the candidate should ensure that Question
Booklet Number and Barcode of OMR Answer Sheet must be same. If there is any difference, candidate must

obtain another Question Booklet from Invigilator. Candidate himself shall be responsible for ensuring this.

el & forw A
T U B IR AR
o T ® 3P FHE B
YIP YT BT Bl (P & SN ST |
TP ¥ AP SR o B M H Y3 & SR BT Terd qHT

il I

SATQT |

5 YAF UH @ IR dafes SR RA W T A waw
1, 2, 3, 4 3ifea faar maT 8| speft @1 WE SR ffde HRa
U S W P99 TP Mol FAT TG P IIR-TTF W
A dfet wide J F T80 FY

6. OMR STR—93% 3H TO&T IRAPT B 1< 31 8 | 579 9T
e gRAST Wiew B FET AY, A SW—ITS BT B
&1 ¥ $ad A dfe @ige W § RfEwe W)

7. YRS Ted SR B Y WEH 3 BT 1/3 AN SISl WRAT|
T IR ¥ a9 YE SR sE F R v 3w w
g s ¥ 2| P Ny ¥ w1 w9 37
@relt BT ToId SO 81 AT ST |

8. WETSH WM 4aT Soldziie I3 BT TET Bt # WART guiaar
affa &1 ARk st apeft & urer Ot 31 afdfa wrrlt frarch
2, o oue fIvg oMM gRT PR SriaEr @1 S|

9. HUAT U I TR HYAAR. TG TR W qHD T
AR | 7T IRIAT Y A TR WA R 5 JP Bl Ui A
| I A1 HHA B |

10. 7% f5e we & & yoR & B e T RISE TSR
H FR A @ v d RN 7o ) wuwR F ¥ sish
B AT B |

AATEA : IR B angeft THd TR THST O & AT SHD I
¥ PIE RG9S WIRT €, O 99 ondel & fes gferw
# gifdet oo Fe gy Rfty Fowi-ureust & 9ga FraE
BT ST | Wy & T W sneff @1 wiasy § €9 are fawmr
B gEE qEr ¥ faafiia ey wwar 2

INSTRUCTIONS FOR CANDIDATES

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated as

WIONg answer.

Each question has four alternative responses marked serially

as 1, 2, 3, 4. You have to darken only one circle or bubble

indicating the correct answer on the Answer Sheet using

BLUE BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the Answer
Sheet and fill in the particulars carefully with blue ball point
pen only.

7. 1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question. Leaving all
the relevant circles or bubbles of any question blank will not
be considered as wrong answer.

8. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found with
any of such objectionable material with him/her will be strictly
dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

10. If there is any sort of ambiguity/mistake either of printing or

factual nature, then out of Hindi and English Version of the

question, the English Version will be treated as standard.
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Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.LR. would be lodged
against him/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him/her permanently from
all future examinations.
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In which building of the Mughal period, for
the first time the style of double dome
construction was seen?

(1) Tomb of Sahasram

(2) Tomb of Itmad-ud-Daulah

(3) Moti Masjid

(4) Tomb of Humayun

If a, b, c are non-zero rational numbers such
that abc = 1, then the value of —

1 3 1 R
(1+a+b‘1 + 1+ct+a—t + 1+b+c‘1) is equal

to—
@ o
@ 1
3 a+b+c
C)] 1+l+1

The ceramics found at Ganeshwar all
belonged to the -

(1) Ochre coloured pottery

(2) Red Ware

(3) Northern Black Polished ware

(4) Painted Grey Ware
Who was the Prime Minister of the
‘Rajasthan Union’ inaugurated on 25 March,
19487

(1) Gokul Lat Asawa

(2) Gokul Bhai Bhatt

(3) Shobharam Choudhary

(4) Teekaram Paliwal
Where is the Dashavatara Temple of Gupta-
Era situated?

(1) Ajanta

(2) Ellora

(3) Deogarh

(4) Elephanta

TTTBIeN % ST 3 Ygell IR JleY TEe
fmfor &1 e B WENT S @ e
4

(1) FEERF BT AHET

(2) TTHIGRICT BT AHaRT

(3) ¥l 9Re"

@) TA B AHE

Al a, b, ¢ IR IR TN 56 UGR § fF
abc=1,dF —

(1+aib‘1 + 1+c:-a'1 + 1+bi-c”'1) PI AN SRR
T —
1 o
@ 1
(3) a+b+c
@ 1414 1
a c

TR § U< oI9S (&9 FPR & 37

@) IARF Jovs

) o g

@) s FO ARl FewTs

@ == =T gEars
25919 1948 B, SqEIeT e ISRl Bl
QAT {59 g9r s@r ar?

(1) -NEa o €@

@) Tigd 98 v

(3) MR RN

@ EAPNH Ureliard

TIPTEI SGAR Alvax Hel R 87

(1) sFfa
(2 vEN
(3) <T%
@) velwer

-
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6.  Which of the following Plays isnot attributed 6.  fr=ifciRaa 3 & Bvr s Bifeard &1 T8
to Kalidasa? HHT T?
(1) Abhigyan Shakuntalam (1) R argae
(2) Malavikagnimitra (2) AR
(3) Hayagriva vadha (3) TET o
(4) Vikramorvashiya @) Rk
7.  During the Revolution of 1857, which of the 7. 1857 &I i~ & <R, =1 § ¥ s g™
following offered traditional symbol of Tl I8 B 15T 31 W61%, o, 9 B
allegiance, Nazar, to the Mughal emperor? g7
(1) Rawal Shiv Singh of Samode 1) THE © vad B Ris
(2) Rao Raja Khushal Singh of Auwa () g & g ST Hur g
(3) Lala Jai Dayal of Kota (3) T T el WE AL
(4) Pathan Mehrab Khan of Karauli @ TN F o FeE @E .
8.  Who was the Governor — General during the 8. 1857 @ figi® & WHg, Ta-R—oiRat BT o7
Revolt of 18577
(1) Lord Lytion ) e feres
(2) Lord Clive (2) ©i< T
(3) Lord Curzon (3) IS B
@) Lord Canning @ S BT
9. Shikhar was born two years after hismother’s 9. RER o=l #aT & fdaE @ 2 o vwan
marriage. His mother is five years younger B3| S9! AT Sus far 9§ o= of B
than his father. Shikhar is 10 years old and his 2| Rrex & oy 1099 © 3R S A
motheris 20 years older than him. At the time IY 2098 9! 2 | faars & W, vwo e
of marriage, the age of his father was- @l g -
(1) 37 years O 3799
(2) 35 years (2) 3599
(3) 25years @) 2599
(4) 23 years @ 2339
10. Who invited Gandhi to the Ahmedabad 10. 1918 &I, 3EHeEIE FHusl e Tsae
Textile Mill strike of 19187 Tt @1 fFae Jemar?
(1) G.K. Gokhale 1) o P M
(2) Anasuya Sarabhai () g ARME
(3) Ramkaran Joshi (3) TSR e
(4) Rajkumar Shukla @) YoTEER g
OD- & Page 3 of 16



11. Why were the peasants of Champaran 11. TORT ¥ B & G BT TGH BROT T
discontented? off?
(1) They were facing famine. (1) IFA D DR
(2) Local leadership was absent. @ &g e D A D DRI |
(3) The Jagirdars were physically (@) IRERI & §ed B BN
forturing. _ @ TR S AR EN A ST
(4) The European planter were forcing
them to grow indigo. @ fore aea 0 59 % Brev |
12. Ifax® + bx? + 4x-3 is divisible by (x+1) and 12, T ax® + bx? + 4x-3, (x+1) IR (x2) ¥
(x-2), then value of a and b are - g &, drasiRbar AM & —
M a=-% p=2 M a=-% p=Z
4 4’ 4
@ a=%, b=-7 @ a=Y, p=-2
3 a=2, b=3 (3) a=2, b=3
(4) can not be determined @) T TE PR GHhd B
13. A factory employed 10 labourers at ¥13.50 13. & FRE™ # 10 3 P 13.50 T,
per day, 18 labourers at ¥12.00 per day, 18 sift @ 12 IuRifEE, 5 s @
5 labourers at ¥ 25.00 per day and 2 labourers 25.00 T yfafed sk 2 #ffei @1 42.00 T
at T42.00 per day. The average wage of a fafes &) o W® @1 | U siffe @ ufafes
labourer per day is - irea oGy § —
1) 14 1 14%
(2) %16 2 16%
3) T2 3 20%
@ 22 @ 22%
14. Which of the following has not been found 14. fi=ifoReq & ¥ fPue Wy @ElET &
from excavated ancient site of Kalibangan? RS b SeETT o W el §Y 87
(1) Wheat 1) g
(2) Bajra (2) RN
(3) Rice 3) dmGd
(4) Ivory comb @) =S & o
15. If the difference of mode and median of a 15. I TP 3ifpe & IgaP AN ARSI HT R
data is 24, then the difference of median and 24 & O Hiftger IR ARG B AR SRI6N
mean is equal to - g -
W 12 @ 12
2 24 @ 24
3 36 3) 36
@ 16 @ 16
OoD- & Page 4 of 16




16.

17.

If“A’ is a two digit prime number such that  16.

on inter changing its digits, another prime
number ‘B’ is formed. Given A>B, such that
A-B=36, then A+B is -

1 110

@ 113

3 115

@ 117

‘Who was the anthor of ‘Prithviraj Vijaya’? 17.

(1) Chand Bardai

(2) Jayanak

(3) Nayanchand Suri

(4) Malik Mohammad Jayasi

g ‘A’ T IFP] Pl TP I & 59 ISR
g & o 3 g § q9om W UF I
MY ST ‘B’ 9l § | 59 T ASB, 39
THR & A-B=36, 9l A+B® —

1 110

@ 113

3) 115

@ 117

“PARIS Ao’ &I oiE® BT o917

(1) =HeEaRars

(2) “HAFE

(3 TOTER g

@ ot Y Wl

18. Who led Harawal (Advance Guard) of the 18. BI=id) & Ig H WRON YAl @ 97 ¥
army of Maharana Pratap’s in the Battle of BRIae &1 ﬁqa BT B & I7?
Haldighati? (1) 35w RN
(1) Abdul Lahori @) weaE Raewl
(2) Mahmud Khilji @) e 7
(3) Birdi Mal @ T EF R
(4) Hakim Khan Sur
19. If the radius and height of a right circular 19. 3 & &9 JOBR Jo@ & Brew &k
cylinder is increased each by 10%, then the I} HATE TIF § 10% B gy o <Y Ay
percentage increase in its volume is - g O 999 agaT § oy uiiea iy Y
@ 121% @ 121%
2 24% 2 24%
@) 33.1% 3 33.1%
@ 728% @ 72.8%
20. What was the Mughal centre of manuscript 20. tﬂf’gﬁlﬁ'@f o sl @1 qiTel T @l
production called? HET AT?
(1) Mahavatkhana (1) ¥EEaEr!
(2) Ibadatkhana (2) SAETEMT
(3) Karkhana (3) SREF
(4) Kitabkhana @) framE @
oD- # Page 5 of 16



21. The capacity of right circular conical vessel 21. T® o guIg g AHR S BI & V|
is ‘“V’ having vertex downward. It is filled foraer o g 2 i B 9% AUl SR ®
with water upto half of its height. The volume A 96 GET Y U AT S99 D @il 90T
of the empty part of the vessel is - %] AMTa & —

v
1) = 4] %
@ 3% @ 3¥
@ s @ 53
@ 73 @ 77
22. Who was the author of ‘Kiratarjuniya’? 22. ‘frwaniiy fGas g fofaa &7
(1). Bhasa 1) 9
(2) Bharavi 2 wRfT
(3) Shudraka B TF
(4) Kalidasa (4) W

23. Who were the two Ministers who betrayed 23. ™R % & o 9 TR ¥ ORMER
Hammir and accelerated the fall of T T R oH?

Ranthambore? .

(1) Ranveer and Ripudaman (1) ER T R

(2) Mahendrapal and Vigrahapal (2 ¥E=u v9 ey
(3) Manvendra and Mahipal 3) Fdw Ud AR
(4) Ranmal and Ratipal () UE d <

24. 'Who established the ‘Harijan Sewa Samiti’ in  24. 1935 #, §Ry¥ ¥ fFue g™ ‘sRe™ @ar

Dungarpur in 19357 Ry $ e o TE?
(1) Bhogilal Pandya (1) wriere g3
(2) Manikya Lal Verma (2) RRA &iel 1
@) Govindgiri @) 7= AR
(4) Surmal Das @) T« 9

25.  Who brought painters of Iran — Mir Sayyid 25. T7d SR # 599 @ REeR —iR 929 o7l

Ali and Abdus Samad to the Mughal Court? 3R oTg¥ AR B BT @R A7
(1) Babur (1) R
@ Jahangic @ AR
(3) Humayun 3) E—;m‘i
(4) Aurangzeb @ SNE
26. 'When was the Ramakrishna Mission founded 26, &= gRT WHe™T g @i w@Io &
by Vivekananda? By g7
1 1895 (1) 1895
(2) 1896 (2) 1896
3) 1897 @) 1897
@) 1898 @) 1898
oD- Page 6 of 16



27. 'Who took Rana Sanga’s place whenr he was 27. 9ENdl I 4 90T gue & WM B HRY
severely wounded in the Battle of Khanwa? G &7 I fHas forar
(1) Hasan Khan Mewati (1) =99 G )
(2) Silhadi Tomar @) Rresd W
(3) Raja Ajja Jhala (3) TSI 3FSoll STell
(4) Mahmud Lodi @) W <
28. Which of the following Venn-diagram shows 28. /= § ¥ e a9—sm, A g9y, el
the proper relation among Fat Men, Blue- IfEl grel Afaa AR uRig §, WS 9=y
eyed people and Indian? e9[iar &7
@ @ ; @ @
o (o]
® @)
'@ ‘@
29. On 26 January, 1950 Rajasthan was 29. WRa WU ¥ 26 SE<), 1950 ¥, Iore
CAtEZOrISEd 8S...orueuerrerearrerereescnrserarsesanss under &1 5 Soft &1 =g 9FEr Tar?
Indian Constitation. @) 9F1 ' T
(1) Part A State (2) WF T T
(2) PartB State @) W g
(3) Part C State @ 9 T I
(4) PartD State
30. Initially the diameter of a spherical balloonis 30. ¥R¥ # (& MABR ﬂ@ﬁ P @ 28 A
28 cm. It can explode when the diameter 21 g8 yRRYF @ @ g IO S T W)
becomes g times of initial diameter. Air is He HHdr 2] 99 w1 88 WP /W, B W W
blown at the rate of 88 cm>/sec in it. In how T Sl B AR o e ¥ we wig?
many secords the balloon will explode?
(1) In 1902 sec 1 1902¢. F
(2) In 1905 sec (2) 1905 #
(3) In1908 sec (3) 1908 3. #
(4) In 1911 sec @ 19119 §
OD- Page 7 of 16




31.

32.

33.

34.

3s.

36.

37.

38.

39.

40.

SO 3R yogg SN @ 9 ¥ T Ies § —

1) e @ =@

3 Raw @ U

e frmefe aa—gml § 9 5w sei-ig srgifera 87

1) o — 79 = 37 — °@ (2) =Ud — Tl = Rl — dua
(3) 9 - &9 = JgAT - Y (4) TH — TH = YU IR — BB
e fRwen # ) | =g 87

1) =g+ 9 = awfa 2 G+ 3cu=\A

() g + TW = LN @ S+ R = sfex

fra foen 4 wft o= g &7

1) v, R, kR (2) DRERY, Swifad, sacaE
(3) =HEiesy, Wi, wats @) YIUE, TS, THIND

g fawea F <ol T o=t &1 ToFRie s we T8 87

(1) Ratification = Sﬁﬂﬂ?ﬁ (2) Verbatim = BT
3) Percentile = I EIIE (4) Statutory = ifafere

Choose the correct sentence — (Tenses)
(1) Before you know it, your children will have grown up.
(2) Before you will know it, your children will have grown up.
(3) Before you knew it, your children will have grown up.
(4) Before you shall know it, your children will have grown up.

Fill in the blank space using the correct comparative:
Of the two languages 1 am learning, I find English the............

(1) easiest (2) easier

(3) easy (4) very easy
Choose the correct active sentence for the given passive sentence —
These doors must be shut. (Passive)

(1) You are requested to shut these doors.  (2) You must shut these doors.

(3) You will shut the doors. (4) You are ordered to shut the doors.
Identify the correct option —
His chamber is.............. the corridor.

(1) along (2) about

(3) into (4) among
Choose the prefix to indicate the antonym of the word “appropriated”-

(I) in (2) un

(3) dis (4) mis

OoD- Page 8 of 16
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42,

43.

45.

46.

-

Highest population growth rate during

2001-11 decade was in the district -

6y
@)
@3)
“)

Barmer
Jaipur
Kota
Jodhpur

Which Wildlife Sanctuary was notified as
India’s 52™ Tiger Reserve?

@)
@
3

@

Ramgarh Vishdhari, Rajasthan
Mukundra Hills, Rajasthan
Srivilliputhur-Megamalai,
Nadu

Guru Ghasidas
Chhattisgarh

Tamil

National Park,

What is the mass of 3.011x10% number of N
atoms?

@
@
&)
@

3.011g
3.011x10% g

78
l4¢

French Government’s highest civilian award
“Chevalier de la Legion d’ Honneur” was
presented to -

@™
@
®
@

Adar Poonawalla
Narendra Modi
Ram Nath Kovind
Shashi Tharoor

Which feature of the Preamble of India’s

Constitution is underlined by

‘Elected

President’?

4y
@
3
@

Sovereign
Socialist
Secular
Republic

Bhangarh, Sirawas and Bilali are situated

41.

42.

43.

45.

46.

2001-11 % <TF § GII0S WTHET g o)
arer foter 8 —

1) <R

2 SER

(@) T

@) SR

e Tl SIRTT @ IR & 529 TR
Red & w9 9 st fear w o

1) e fawems, e

(2) HHa Bew, oI

@3) SARGRR—ATFES, TS
@ To g TS S, BURNTG

N WAt B 3.011x10% 6& & ged
7T 87

(1) 3.011g

(2) 3.011x10%g

3 7¢g

4 14g

WININ WRPR G Fared ANRG QPR
"AARR T o AR & R B wem
forar Tar?

(1) IER gHErEn

) s 9@

(3) YN BifdT

@ TR o™

TRA & Aeus $1 SR @ = fagwar
‘TeraitEre wsgufe’ g i #1 wRh 89

(1) Yo W T

(2) GHITEET

3) derferue

@ TRy

qTe, RREE e el waf Rerg €7

in -
(1) Central Aravalli Region (1) DT SREH WS
(2) Southern Aravalli Region (2) =Rl sRge gew
(3) Northern Aravalli Region () ST IR Q™
(4) Hills of western sand dune track @ wReE woverlia & @ yeieal §
oD- & Page 9 of 16 )




47. Consider the following statements with 47. WRa @ SHUET 2011 & Gdy ¥, FrafoRes
respect to Census of India, 2011 — H W IR o5 —
(2) The sex ratio of India is 940 females (2 ¥Ra & fvrgea o s9R ol
per thousand males. TR 940 HREAN ¥ |
(b) Haryana features the lowest sex ratio ) sREEr ¥ WRg § W o9
in India with just 877 women per fefamrgama 2 el Oy IOOOE\H‘Gﬁ <
1000 males. R 877 Afeang £
Choose the incorrect answer - e §Ox g —
(1) (a)only D) (@) Fdd
(2) (b)only @) (b)Dad
(3) Both (a) and (b) B ()R p)
(4) None of the above @ TR ¥ ¥ B TS
48. Among the following, who has been the 48. Tl # 4 = affHa wm @ o
longest serving Speaker of the House of the A 9T & IRET B WY H @ B7
. People? .
(1) Neelam Sanjiva Reddy Q) em el Y
(2) GM.C. Balyogi ) (2) ©N. TH. 9. SeEn
(3) Balram Jakhar 3) doNE TES
(4) Hukam Singh @) Tow RiE
, 49. Who were the flag bearers of India in 49. WSAed Wel 2022 ¥, R & &W@RS B
Commonwealth Games 20227 g7
(1) Lovlina Borgohain and Manpreet (1) el IR iR 7T RiE
Singh
(2) P.V. Sindhu and Manpreet Singh ) DA Ry AR T RiE
(3) Lovlina Borgohain and P.V.Sindhu (3) el AR AN MRy
(4) None of the above @ SREH ¥ B =
" 50. Which is the incorrect option? 50, e g DIl ©F
Dolomite deposits ~ Districts Sionse fEm e
(1) Bajla—Kabra - Ajmer (1) Tl —BET - IR
(2) Mandal - Bhilwara () wisd - rerErsT
(3) Karauli-Kasoli - Rajasamand (@) FAR-FER - e
(d4) Indo-ki-Dhani - Kota @ €1 & e . B
51. AsperCensus2011 literacy ratein Rajasthan  51. o= 2011 7 SER, ST # R
is - TWE —
(1) 512% 1) 51.2%
2 72.2% @ 722%
(3) 66.1% (3) 66.1%
4) 83% @ 83%
oD- Page 10 of 16




a?

52. Country’s first farm based Kusum Solar 52. 3% & o B MENRa WY ol aRASHT
Power Project is established at - FHYa Bl Iy fHar g ?
(1) Jodhpur (1) <rEYR
(2) Barmer Q) e
(3) Jaisalmer 3) I R3GEaEd
4) Jaipur @) AR
53. 'Who was appointed as the new Chairman of 53. 2022 #, U @ <Y 98] & ©U o 69
ISRO in 20227 forgert T ar?
(1) K. Sivan n & REm
(2) S.Somnath (2) TE AR
(3) Tapan Mishra (3) T =
4 G. Madhavan Nair @) . TET TRR
54. The World .Summit on sustainable 54. o 9 W i@ RreR a&ew s
Development was held in Johannesburg, 3BT B WEFTaT § iR frar o e—
South Africa, in the year-
1 2022 (1) 2022+
@) 2002 (2 20024
(3) 2001 (3) 2001%
4 2020 @ 2020%
§5. Pb(s) + CuClz (ag) — PbCl; (ag) + Cu(s) 85.  Pb(s) + CuCl: (aq) - PbCl; (aq) + Cuéé)
The above reaction is an example of - SRIFq AAHAT 6 G & —
(1) Double displacement reaction (D) TEfocemE i o
(2) Displacement reaction 2) foemus sfAfkear &1
(3) Decomposition reaction @) TG @uuen) s @
(4) Combination reaction @ oo affsar
56. Taragarh Fort is located in - 56. GRTFE g4 Re & —
(1) Ajmer (1) SRR
(2) Bikaner 2 TorR
(3) Sawai Madhopur (3) was AR
(4) Jhalawar @ weEE
57. Which is a tributary of Chambal river? 57. ITHl TS 9 B HElS way 7
(1) Jawai (1) wEE
(2) Mahi (2) =
(3) Kali Sindh (3) @l faw
(4) Jakham (4) SIRGH
OoD- Page 11 of 16



58. Among the following Jowar producing S8.
districts are -
(1) Ganganagar — Hanumangarh
(2) Ajmer— Nagaur
(3) Dungarpur - Banswara
(4) Barmer - Jaisalmer
59. 'Which division of Rajasthan is covering the 59.
largest area in the state?
(1) Bikaner
(2) Udaipur
(3) Jodhpur
(4) Bharatpur

60. A mass of 10 kgis at apoint A on atable. It 60.
is moved to a point B, 2 m apart from A. If A
and B lies on some horizontal line, the work
doné on the object by the gravitational force
willbe-
@ 2071
2) 1071
3 57
@) Zero

61. 'Which of the following statements are correct  61.
as regards to the Public Service Commission
in India?

(a) The Constitution of India provides
one Public Service Commission for
recruiting all India services in the
country.

(b) The Constitution also provides
provisions for the Joint State Public
Service Commission to serve the
needs of those requested group of
states.

(¢) In case the Joint Commission, the
Chairman and Members shall be
appointed by the concemned
Govemor of the states.

(d Members of the Joint Public Service
Commission holds office for a term
of six years or till he attains the age
of 65 years.

Codes -

(1) a,bandconly

(2) aandbonly

(3) b, c,anddonly

4) aonly

F=ifpa § ¥ <R Saes ol € —

@ ‘i‘lH‘N—S:J,Hl"l‘Ir_B

(2) IR

() FRY-TiEaTS

@) dTSER-SITER

USRI B HiaEl IR o d Gaiete
&5hol TRAT 87

@) HorR

2) SR

(3) SiuR

4) AR

10kg & T SN 091 & fag A & 8|
SHAY2m @ ® Ryg 95 B o6
e wiem 81 A A 9 B & 8o Y@
w= oy €, @ o™ 99 N 5 T
5T —

1 201

2 103

@) 57

@ T3

qRG ¥ IP Har AT S Hee 7 S=fefa
¥ ¥ 9NN FUYH T 87

(2) YRG P SR T A A
Jait B w0 & N vE G
AT WEH SRl B 1

(b) R 99 T B ARG TE
P STEvE! B N B D Y Hgad
T e JAT AT B OAEE |l
TS &l &1

(c) Y NT B AN H, A 3R
IMIUTA §RT P I |

(@ <gTa Ae T JEET T Go™ B8
¥ ot 3@l & fog a1 659 & 3y
<l 6 OF U5 €N Hd 8 |

'Eﬁma_

(1) ®acda, bR c

(2) »dd adiRb

(3) @ad b,caliRd

4) DI a
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62.

63.

64.

65.

Which of the following statement about the  62.
Cabinet is incorrect?

(1) Cabinet Ministers attend meetings of
the Cabinet of their own right.

(2) Ministers of State can attend
meetings of the Cabinet only if
invited to attend any particular
meeting.

(3) A Deputy-Minister takes no part in
Cabinet deliberations.

(4) A Minister belonging to any House
of the Parliament has the Right to
Vote even if he or she is not a
member of that House.

Mukhyamantri Ekalnari Samman Pension 63.
Yojana of Rajasthan comes under which
Ministry?

(1) Ministty of Social Justice and
Empowerment

(2) Ministry of Women and Child
Development

(3) Ministry of Youth Affairs and Sports

(4) Planning Department

Select the pairs of analogous organs using the  64.
codes given below —

(A) Wings of bat and pigeon

(B) Human teeth and Elephant tusks

(C) Potato and Sweet potato

Code -

1) (A)and (B)

2) (B)and (C)

3) (A)and (C)

@) (A), B)and (C)

The scientist at the Indian Veterinarian 65.
Research Institute have recently developed a
low cost vaccine for which disease?

(1) Bird Flu

(2) Swine Fever

(3) Foot and Mouth disease

(4) Monkey Pox

Afrsa & IR | fFr=fiRag § § o s

el 87

(1) «Prsa & ¥ w9 @ IRER B
IR R Hred & do@ ¥ 91 T

) =g HH AfEsa o) fEe oy Sow
# oga FERE 89 W E o1 9@
gl

) Su-F dlFed @ < Yo F 9T
& o § |

@ tF A @I, AR 9 HEs @ R ol
e ® 9eH B, 9 9ed | 7
S T AWER § I} 9 99 Waq B
oW & a1 7 8

ORI B A YheN G 9eH

o o Ao & siavia eIl 87

@) arie = iR e d= e
(2) wfden v T o daed

3 gar A SR W HAe

@ Ao faurET

e g Ty et o HerEdT ¥ I o &
T BT I P —

(A) TFES U9 TR © U9

®) UM % <oig Ud =R §f|

(C) =g W AFRPal

EEC’I-_

@ AT ®B)

(2 ®) W)

B A)TWEO)

@ A),B®TE)

IR R 1T 1 T
Isnifve = B & A fha S & oy on
NI arelr ST fasid far 87

1) "

(2) <RI B

() R IR g &

4) ¥ digd

OD-
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66. The Westminster system adopted in India’s 66, ¥R & dUdue ¥ s 8 ‘Iefiey
Constitution is related to - TUTTell T Hae & —
(1) Presidential system (1) IFEITHSG YOI |
(2) Parliamentary system Q) U woOTel |
(3) Republican system (3) TV YOS ¥
(4) Federal system @ < ol J
67. Trikoot and Nakoda hills respectively are 67. Tog T4 oI Bl IoI™ & Haen
situated in which districts of Rajasthan? Py e ¥ safer €7
(1) Jaisalmer and Barmer (1) SRR U9 TSR
(2) Jaisalmer and Jalore (2) ViGeRN Td SIER
(3) Barmer and Sirohi (3) SR T RRE
(4) Pali and Barmer @) U Td TR
68. Who is the author of the book 68. ‘Wil €AW 7 GURI TR & oGP B
‘SWADHINATA SANGRAM NA g :
SURVIRO"?
(1) Meenakshi Lekhi (1) Hel o
(2) Amit Shah () «faa s
(3) Bhupender Yadav (3 s uEy
(4) Vasundhara Raje @) TR T
69. Which of the following river doesnot belong  69. fifoifeg & ¥ @< 7l wowm@
to the inland drainage in Rajasthan? e wia Mot 9 4sfta w8 87
(1) Sagi @ i
(2) Ruparel (2 JuRd
(3) Hakra 3) Tou
(4) Sahibi @ RS
70.  Average rainfall of Rajasthan is - 70. IO oY A 99 § —
(1) 48-52cms (1) 48-52%1
(2) 63—-67 cms (2) 63-6794
(3 56-58cms 3) 56-58%7%
4) 30-35cms @ 30-35T
71. Which is the first village in Rajasthan to get 71. Eel ¥ @I qoa @9 (ODF+) ST 9 drell
an Open Defecation Free Plus (ODF+) tag? ISR 61 UBel g HITar 87
(1) Khimsar, Nagaur (1) ReR, FRIR
(2) Jalota, Jaipur (2) e, SR
(3) Danta, Ajmer (3) <di, IR
(4) Lohtra, Jodhpur @ e '\?ﬁﬂg'\’
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72. Match List-I with List-II and select the 72.

correct answer from the code given below —

List-I List-1I
(Minerals) (Mining Areas)
(A) Copper (i) Rajpura-
Dariba
(B) Lead and (ii) Morja-
Zinc Neemala
(C) Iron Ore (iii) Chotisar-
Badisar
(D) Manganese (iv) Kho -Dariba
Code -
(A) B) © D)
1 @ @) (ixi) (i1)
2 @) ® (i) (i)
G @O- G (D (iii)
@ ) (i) @ (iii)

73. With respect to the National Highway 73.

Network, the rank of Rajasthan in India is -
(1) First (2) Second
(3) Third (4} Fourth

74. Consider the following statements — 74.

India has achieved its
target of achieving 40% of
its installed electricity
capacity from non-fossil
energy sources by 2030 in
November 2021.

The headquarters of the
International Solar
Alliance is located in
Cairo, Egypt.

Statement I-

Statement II-

(1) Only statement I is correct

(2) Only statement II is correct

(3) Both statement I and II are correct
(4) Both statement I and II are incorrect

75. Kankrej breed is mostly found in the district  75.

-1 B G- 11 & AT SRR e 9

A T we A wd TR g —
a1 T-1I
(@) (@ &)

(A) = () TGRS

B) WEr @ () ARe—AER
O

©) diE (i) T gR—aS 9’
IAED

O FFE vy G

@" —_—

@ ®& (© @)

@ @) @ (i) (ii)

@ @) @ (ii) (iii)

@ O Gv G (i)

@ G G . @ (i)

TS ISER Acds & Heyg ¥ 9Rg #
TOTRRA BT DIl @I 87

(1) usen () TEA

@) (4) =

fFrafafed wemi W faaR = —

B[ WRA 5 98 2021 7 2030
% R—<NarA SHoll gial
¥ e e feerel
EHAT BT 40% WIS B
BT T BN BN forr
gl

BT I sy dHik osys @

e iew, e A
Rera 1

(1) daa F9 1 93 8

(2) oad ®U= I Wl &

(3) @ 18R IO 3Hf wel &

@ e 18R O 59 ora &

Pipvel T DI N Rrer § uE oIl

of - g awE~
(1) Banswara (2) Barmer (1) SigarsT (2) =R
(3) Ajmer {(4) Bhilwara 3) 3IEER @) AearsT
OD- Page 15 of 16




Space for Rough Work /3% &4 @ ol Wi

Page 16 of 16




